normalized X?

107

1072

107

Ratio

0.

W2 4 6 8 10 12 14 16 18 20
2

[ normalized x? probability |

0.06!

0.05

0.04]

0.03]

0.10.2 0.

|
3

Entries
Mean
Std Dev.

0809 1

0.4 050.6 0.7

I
0

Prob(x2)

m=m== DQM_original_step2__pt1000_etalp6to2p0
e DQM_mkFit_step2__pt1000_etalp6to2p0

wmm—= DQM_pixelCPETemplate_step2__pt1000_etalp6to2p0

A2 =
= o . B !
2 _F : A -
< 1.8 PR L e - I
U : o ...
R S R ARETET REPEY FEPE o .
[ o 3
] SRCEEE EEPEPE EPEPLT EPEPD v -
o S
o )
T j
o :
L.
0953 o1 2 3
TP n (PCA to beamline)
A [ T A F
2k L. SR SO 2 18F-
T F : 3< 1.6F-
\ I S S A \ E
1A6: 1.4f-
1.2F
-
0.8F-
0.6F
0.4F
0.2F
o O
©
@
0.5F
0. . . . s oL~
107 1 10 102 go 10 1072 ) 15)’1
T AR(track, jet

<o pTIpT > (Yo)
s (5

W

N

L]

Ratio




	Contents
	Page 1


